True or False Quiz 2
1)  482 is divisible by 3.

2)  634 is divisible by 3.

3) 84 is divisible by 3.

4) 44 is divisible by 2.

5) 390 is divisible by 5.

6) 832 is divisible by 4.

7)  925 is divisible by 10.

8) 444 is divisible by 9.

9) 8775 is divisible by 9.

10) 694 is divisible by 7.
11) 553 is divisible by 7. 

12) 467 is divisible by 2.

13)  934 is divisible by 4.

14) 846 is divisible by 9.

15) 84 is divisible by 6.
16)  67 is divisible by 6.

17)  553 is divisible by 5.

18) 770 is divisible by 10.

19) 916 is divisible by 4.

20)  2944 is divisible by 8.
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